03 01 18

G

15,137

14,997

140|

0.92

H29

H33

H35

63

71

63%

68%

1%

DB

DBO

H29

0000603747




H31 |Ro2 [R03 [RO4 [ROS

A07-001 [ I B A B | 51
A07-002 L=7.6km ¢ 200 [ I B A B | 1,776
A07-003 L=0.5km ¢ 200 [ I B A B | 55
A07-004 L=10.8km ¢ 200 [ I B A B | 1,810
A07-005 L=3.0km ¢ 200 [ I B A B | 680
A07-006 L=1.5km ¢ 200 [ I B A B | 248

0000603747




H31 |Ro2 [R03 [RO4 [ROS

A07-007 L=0.9km ¢ 600 L I B B BN 398
A07-008 L=0.1km ¢ 250 LI B 19
A07-009 L=0.4km ¢ 300 "= 174
A07-010 L=0.2km ¢ 450 "= 55
A07-011 L=1.6km ¢ 350 L I B B BN 462
A07-012 L=0.5km ¢ 300 L I B B BN 83

0000603747




H31 |Ro2 [R03 [RO4 [ROS

A07-013 L=0.3km ¢ 250 ] 43
A07-014 L=0.1km ¢ 250 ] 32
A07-015 L=1.1km ¢ 300 L I B B BN 364
A07-016 L=2.0km ¢ 600 L I B B BN 744
A07-017 L=0.4km ¢ 250 [ I B 61
A07-018 L=0.1km ¢ 450 ] 22

0000603747




H31 |Ro2 [R03 [RO4 [ROS

A07-019 L=2.2km ¢ 250 [ B BN A B ] 629

A07-020 DB A=69.4ha [ B BN A B ] 611

A07-021 L=0.5km ¢ 200 [ D B B 68

A07-022 [ ] 19

A07-023 7629 [ B BN A B ] 2,380
3/

A07-024 [ [ [ [ [ 270

0000603747




H31 |Ro2 [R03 [RO4 [ROS

A07-025 n n n n n 3,300
A07-026 L=10.0km ¢ 200 " == 167 1.3
A07-027 L=0.5km ¢ 200 " == 100
A07-028 L=0.5km ¢ 200 " == 70
A07-029 L=0.1km ¢ 200 " == 60
A07-030 L=0.3km ¢ 200 [ I 96

0000603747




H31 |Ro2 [R03 [RO4 [ROS

A07-031 L=1.3kn @ 100 e 120

A07-032 L=4.1kn @ 150 . 30
[ L[] o] |
| 1] oo |

0000603747




H31 |Ro2 [R03 [RO4 [ROS

C07-001

140

140 |

140 |

0000603747




H31 RO2 RO3 RO4 RO5
@ 895 1,077 1,029 1,002 2,088
() 0 0 0 0 0
(c=atb) 895 1,077 1,029 1,002 2,088
() 447 654 623 643 545
(e) 688 1,108 1,009 1,100 1,724
) 654 623 643 545 909
146 88 39 42 36
(h = ct+d-e-f) 0 0 0 0 0
(i = (g+h)/(c+d)) 10.87 5.08 2.36 2.55 1.36
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0000603747



